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dtimE 494 20,299 HEER 2,445
AR 109 2,668 RARAT 150 5,547
=FE 90 2,057 N 736 28,515
HHE 135 3,842 EER 394 15,090
MEE 76 1,876 =RE 73 2,672
i 63 1,477 IR 121 3,029
EEe 114 3,073 EmE 52 1,913
% 4k 12 210 5,283 ERE 53 2,047
mARE 150 4,610 i LR 124 3,625
HEE 168 5143 LEER 229 7,569
BEE 408 15,036 wAag 140 3,397
FEE 332 11,786 wmEs 81 2,428
IR 371 15,319 EJIE 81 2,599
#HEIE 339 13,446 ZRE 166 4,381
HinE 107 3,045 S8 35 1,082
EWE 90 2.417 =28 219 8,992
AJIE 54 1,754 EEER 22 571
BHE 53 1,576 EIGE 125 3,091
WEIE 73 1,591 REXRE 119 3,198
EFE 120 3,456 AN AN 65 2,165
iy B2 15 120 3,386 HIFIE 29 1,089
A2 2 156 5232 BREE 98 2542
ERNIE 294 10,324 iER 71 2,385
=58 204 5,994 &t 7,604 255,062




